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1) Which of the following is the correct plural form? (2:=fer)
A). crisis [ crisis

B). crises [ crisis

C). crisis [ crises

D). crisises [ crises

217 ©e<s C). crisis [ crises,

716 Tes3 C). crisis [ crises,

2) What is the correct plural of Ddatum0? (2z=fe)
A). datas

B). datums

C). data

D). dates

I+K ©e<s C). data,

(5<% Tess C). data,

3) Choose the correct plural form of Ocactusl: (3u=fE)
A). cactuses

B). cactis

C). cacti

D). cactus

717 ©es3 C). cacti,

6% Teqs C). cacti,

4) The correct plural of Dphenomenon( is [ (2z=fe)
A). phenomenons

B). phenomena

C). phenomenon

D). phenomina

I+91K Te4s B). phenomena,

(%< T@as B). phenomena,

5) What is the gender of the word Imonk0? (2wa®)
A). Feminine

B). Common

C). Masculine

D). Neuter

217 ©eds C). Masculine,

wif6% Teqs C). Masculine,
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6) Choose the feminine form of Odrakel: (2=fe)
A). duck

B). hen

C). goose

D). ewe

2[99 T@ds A). duck,

6% Tz A). duck,

7) Which word is common gender? (3:fe)
A). actor

B). poet

C). student

D). king

oK ©84s C). student,

5% Tesz C). student,

8) What is the plural of Dalumnus0? (3wa®)
A). alumnuses

B). alumnae

C). alumni

D). alumna

7 Teds C). alumni,

w3 Ta=z C). alumni,

9) The correct feminine form of Obachelorl is 0 (3:3f%)
A). maid

B). spinster

C). bride

D). bachelorette

77 Tes B). spinster,

75 @<z B). spinster,

10) Which of the following is a neuter gender noun? (2=fE)
A). teacher

B). river

C). tiger

D). queen

7[99 ©&43 B). river,

w5 Twas B). river,

© 2025 Ornob GK. 747g Ao | PPr2/6



SRNDSIK IRl I FLCATE FTROIR-29 WREES R Teqea

11) Choose the correct singular form of Oteethl: (2:=()
A). tooth

B). teether

C). teeths

D). toothed

2[99 &a43 A). tooth,

3% Taas A). tooth,

12) Which of the following is a correct pair? (3=fe)
A). ox 0 oxes

B). deer U deers

C). sheep [ sheeps

D). goose [ geese

717 $eds D). goose [ geese,

5<% Twas D). goose 0 geese,

13) What is the gender of Obridegroom0? (=)
A). Common

B). Feminine

C). Masculine

D). Neuter

2[99 ©@43 C). Masculine,

71f6% Texz C). Masculine,

14) Choose the correct plural form of Danalysisl: (2f®)
A). analyses

B). analysis

C). analysises

D). analysi

77 Ted3 A). analyses,

(5 Teaz A). analyses,

15) Which one has irregular plural? (3:=fe)
A). book 0 books

B). man 0 men

C). pen 0 pens

D). cup O cups

2[99 ©@<3 B). man [ men,

1f6% T2 B). man 0 men,
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16) Feminine form of OganderD is [ (&)
A). goose

B). duck

C). ewe

D). hen

7E Teds C). ewe,

w3 Taaz A). goose,

17) The noun Ochildd becomes _in plural. (3:=fe)
A). childs

B). children

C). childes

D). childrens

717 $es B). children,

515 Tes2 B). children,

18) Identify the feminine of Dhostl: (2w=fe)
A). hostess

B). wife

C). queen

D). bride

2[99 ©a43 A). hostess,

71f6% Tesz A). hostess,

19) Select the correct plural of Oindex0: (2fe)
A). indexs

B). indexes

C). indices

D). indixes

S+ ©e<s C). indices,

wifs% Tess C). indices,

20) Which of the following is a masculine noun? (3wfe)
A). bride

B). daughter

C). father

D). cow

7[99 &e4s C). father,

w6 Tess C). father,
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21) What is the plural of Oradius0? (3z=fe)
A). radiuses

B). radius

C). radii

D). radiae

K ©ess C). radii,

wfo T3 C). radii,

22) Which one is a common gender noun? (3:f®)
A). king

B). doctor

C). horse

D). actress

Si+1K ©e<3 B). doctor,

wifs% Tess B). doctor,

23) OBitchl is the feminine of [ (3=fe)
A). cow

B). dog

C). fox

D). lion

w[7[F Te<s B). dog,

7o T3 B). dog,

24) What is the gender of Oswanl? (3fer)
A). Masculine

B). Feminine

C). Common

D). Neuter

o[ Sexs A). Masculine,

6% Teqs C). Common,

25) The plural of Oformulal is 0 (2z=fe)
A). formulas

B). formulae

C). formulii

D). formulaz

7[99 ©a43 B). formulae,

w6 Tess B). formulae,
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26) What is the plural of Oleafl? (2:=fe)
A). leafs

B). leaves

C). leef

D). leavs

ol @ &rae Ted (e

7o Tess B). leaves,

27) Choose the correct feminine form of OlionD: (3=f%)
A). lioness

B). tigress

C). cow

D). she-lion

e a3 203E Tes (et

75 Twas A). lioness,

28) Which is a neuter gender noun? (3:af%)
A). baby

B). tree

C). girl

D). boy

7[99 ©eds B). tree,

7o Tess B). tree,

29) Plural of Oknifel is 0 (3x=fe)
A). knifes

B). knives

C). knife

D). knifs

oK ©84s B). knives,

5% Taaz B). knives,

30) Which of the following is masculine gender? (2=f)
A). mare

B). hen

C). actor

D). cow

2[99 ©a43 C). actor,

w3 Ta<z C). actor,
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